Lecture18 (Chapter 23)

1.  What factor influences whether males or females actively search or wait to encounter a mate?  Why? Summarize how the searching sex relates to this factor.

2.  Describe situations in which females control courtship duration and in which males control courtship duration.  Predict which sex controls courtship duration in scorpions and explain why.

3.  What is the difference between a direct benefit and an indirect benefit in the context of sexual selection?  Give an example of each.

4.  What is the difference between a condition dependent signal and a revealing indicator signal?  Provide plausible examples of each type of trait.

5.  What evidence would be consistent with an arbitrary trait and inconsistent with an indicator trait? Why?

6. Give three ways in which courtship signals are expected to differ from mate attraction signals.  In your answer discuss which signals would be expected to have static vs dynamic components.

7. Climate change is causing some populations to extend their ranges to higher latitudes.  If a species of frog (or cricket) begins to overlap the range of a related species that produces a similar mate attraction signal (e.g. a similar frequency), what would you expect to happen over the short term (a few generations) and over the long term (many generations)?  Mention any assumptions that your predictions require.

8.  Meta-analysis shows that male display traits are not good predictors of offspring survival and may only explain a few percent of the variation in survival.  Does this mean that females should ignore male quality when choosing a mate?  Justify your answer.

